MATH SCREENING EXAMPRIVATE 

This test is not graded as a pass or fail. It is to give the instructors an idea of your mathematical background.  This will enable them to determine your overall aptitude and establish a training program should you need extra help.  You will have 2 HOURS to complete the test.  When you complete the test please fax the answers to MSG Williams at Comm: (706) 791-5988 or DSN: 780-5988.

READ THE QUESTIONS AND ANSWER TO THE BEST OF YOUR ABILITY.

SOLVE FOR THE SQUARE ROOT THE FOLLOWING:

1.    441

(a) 6.40

(b) 21


(c) 23

(d) 6.63  

2.    1089

(a) 32


(b) 137.47

(c) 33

(d) 10.40

3.    2500

(a) 50

          (b) 50.55

(c) 5

(d) 15.81

4.    8.40

(a) 28.89

(b) 9.16

(c) 92

(d) 2.89

5.    2510.01

(a) 50.1

(b) .50

(c) 158.43
(d) 15.84

ADD THE FOLLOWING:

6.    23 AND -6

 (a) 29

(b) 17


(c) -29
(d) -17

7.    21 AND 37

(a)  -16

(b) -58

(c) 58

(d) 18

8.    -54 AND 33

(a) 21

          (b) -87

           (c) 87

(d) -21

9.    -43 AND –96

(a)  -53

(b) -139

(c) 53

(d) 139

10.   682 VOLTS AND -934 VOLTS

(a) 252v

(b) –252v

(c) 1616v 
(d) 250v

SUBTRACT THE FOLLOWING:

11.   -104 AMPS FROM 147 AMPS

 (a)  -43amps
(b)-251amps

(c) 43amps
(d) 251amps

12.   -37 VOLTS FROM -45 VOLTS

 (a) 82V

(b) -8

(c) -82

(d) 8

13.   .67cy FROM .0025cy

(a) 66.9975cy
(b) -.6675cy

(c) 6725cy
(d) 67.25cy

14.  21.36ax FROM 10.62ax

(a)  -10.74ax

(b) 10.74ax

(c) -10.74
(d) 31.98

15.   -.986 x2y FROM  .824 x2y 

(a)  -.1620 x2y
(b) 985.1760 x2y 
 (c) 1.81 x2y 
     (d) –1.81 x2y 

EVALUATE THE FOLLOWING:

16.   2  + 3  - 9

(a) 14

(b) -4


(c) -7

(d) 7

17.   3  + 4  + 2 · 5  - 3

(a) 117
(b) 11


(c) -34
(d) 14

18.   2  - 3  · 9

(a) 45

(b) -25

(c) 25

(d) 14

19.   3  · 4  + 2  · 5  - 3

(a) 19

(b) 11

(c) 17

(d) 46

20.   5  + 3 · 7  - 2  · 11  + 7

(a)  -5


(b) 20


(c) -49
(d) 11

21.   28  - 14  - 8  + 16  + 3  · 2

(a)  -28

(b) 44


(c) 28

(d) 36

22.   46  - 18  + 3 · 4  - 8  + 12

(a)  -28

(b) 44


(c) 28

(d) 36

23.   5  - 3  + 6  · 4  + 40

(a) 72

(b) 66


(c) 400
(d) -72

24.   8  - 16  + 4  · 3  - 10  · 5

(a) 1486

(b) -62

(c) -46
(d) 23

25.   15  - 5  - 3  + 2  · 10  - 2

(a) 5


(b) -35

(c) 25

(d) 41

SOLVE THE FOLLOWING:

26.   47,629  · 364

(a) 15,431,796
   (b) 16,336,956
         (c) 17,336,956 
(d) 47265

27.   92 – 27281

(a) 27189

(b) -27189

(c) 27290

(d) 22000

28.   361 · 9843

(a) 3,553,323
(b) 10204

(c) –3,553,323
(d) 9482

29.   22 - 44897

(a) 44875

(b) -44875

(c) -44919

(d) 0

30.  83 divided by 29

(a)  .3494

(b) 1


(c) –2.8621

(d) 2.8621

CONVERT THE FOLLOWING NUMBERS TO POWERS OF TEN:

31.   1,245,000 + 368,000

(a) 1.613x106
(b) 1613000

(c) .1613x10-6

(d) 1613

32.   79,000 + 421,000

(a) 50000

(b) 50 x 105
           (c) 5000


(d) 5x105
33.   333,400 - 22,500

(a) 310900

(b) 3.109x105

(c) 310.9x104
(d) 3109

34.   .000068 - .000049

(a)  -1.90000

(b) .190000


(c) 1.9 x10-5

(d) .00019

35.   446,000 · 200

(a) 8920 x107
(b) 8.92x107


(c) 89,200,000
(d) 892

36.  7,700 · .0032

(a) 24x101

(b) 2.464x101

(c) 24.64                 (d) 24.64x103
37.   668,000 - 4,000

(a) 6.64x105

(b) 6.72x105


(c) 664000

(d) 672000

38.   88,445,000 - .00055

(a) 8.8445x107
(b) 8844999.9995
    (c) 88.445x107

(d) 88449x106
FIND THE COMMON LOGARITHMS OF THE FOLLOWING NUMBERS TO THE BASE 10:

39.   785

(a) 7.85x102

(b) 392.52

(c) 2.8949


(d) 3.92x104

40.   3.57

(a) 1.785x101
(b) 1.7852

(c) 2



(d) .5527

41.   .0345

(a) 1.73x102

(b) 03.45x102
(c) .0173


(d) 1.46218

FIND THE ANITLOGS OF THE FOLLOWING LOGARITHMS:

42.   4.8457

(a)  .6854

(b) 4.8457x104

(c) 70,097.0918

(d) 700.97

43.   2.4330

(a) 2.7102

(b) 271.02


(c) 1.2165


(d) .3861

44.   0.6010

(a) 1.202

(b) -.2211


(c) 3.9902


(d) .3005

SOLVE FOR THE FOLLOWING:

45.  Find the circumference of a circle if the diameter is 6 1/2 inches.

(a) 20.42 sq in
(b) 20.42in


(c) 20 ft


(d) 2in

46.  Find the area of a circle having a diameter of 5 feet 6 inches.

(a) 3421.19sq.in
(b) 3421.19in

(c) 3421.19

(d) 3421.19ft

47.  What is the area of a square, each side of which is 6 inches?

(a) 36m

(b) 36sq.in


(c) 36ft

(d) 36yds

48. What is the hypotenuse of a right triangle, the sides of which are 12 and 8 inches?

(a) 14.42in

(b) 42o


(c) 20sq.in

(d) 20in

49.  Find the third side of a right triangle if one side is 7 inches and the hypotenuse          is 9 inches.

(a) 16in

(b) 5.657in


(c) 8in

(d) 2sq.in

50.  Find the area of a rectangle having a base of 12 inches and altitude of 8 inches.

(a) 4in

(b) 96in


(c) 96sq.in

(d) 20sq.in   

